

2017-18 Graduation Dropout Entity Breakdown Eastern Upper Peninsula ISD (17): All Rate Years

2017-18 GI	addation bi	Opout Litti	y Breakdow	II Lastelli U	pper Fermis	ula 13D (17	). All Rate I	ears	
Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
Statewide	4-Year	2018	122,244	98,583	1,300	11,693	10,668	80.64%	8.73%
Statewide	5-Year	2017	121,221	100,877	1,302	4,737	14,305	83.22%	11.80%
Statewide	6-Year	2016	121,834	101,665	1,452	2,771	15,946	83.45%	13.09%
Brimley Area Schools (17140)	4-Year	2018	32	26	<10	<10	<10	81.25%	3.13%
Brimley Area Schools (17140)	5-Year	2017	37	33	<10	<10	<10	89.19%	10.81%
Brimley Area Schools (17140)	6-Year	2016	33	32	<10	<10	<10	96.97%	3.03%
DeTour Area Schools (17050)	4-Year	2018	10	<10	<10	<10	<10	70.00%	30.00%
DeTour Area Schools (17050)	5-Year	2017	19	18	<10	<10	<10	94.74%	5.26%
DeTour Area Schools (17050)	6-Year	2016	16	15	<10	<10	<10	93.75%	6.25%
Engadine Consolidated Schools (49055)	4-Year	2018	50	27	<10	16	<10	54.00%	12.00%
Engadine Consolidated Schools (49055)	5-Year	2017	36	17	<10	<10	<10	47.22%	25.00%
Engadine Consolidated Schools (49055)	6-Year	2016	38	21	<10	<10	<10	55.26%	21.05%
Les Cheneaux Community Schools (49040)	4-Year	2018	22	20	<10	<10	<10	90.91%	0.00%
Les Cheneaux Community Schools (49040)	5-Year	2017	15	13	<10	<10	<10	86.67%	0.00%



2017-18 Graduation Dropout Entity Breakdown Eastern Upper Peninsula ISD (17): All Rate Years

2017-10 01	addation D	opout Entit	y Di Caraow	II Lastelli U	ppci i cillis	ula 13D (17	). All Nate I	Cai 3	
Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
Les Cheneaux Community Schools (49040)	6-Year	2016	12	12	<10	<10	<10	100.00%	0.00%
Mackinac Island Public Schools (49110)	4-Year	2018	<10	<10	<10	<10	<10	100.00%	0.00%
Mackinac Island Public Schools (49110)	5-Year	2017	<10	<10	<10	<10	<10	100.00%	0.00%
Mackinac Island Public Schools (49110)	6-Year	2016	<10	<10	<10	<10	<10	100.00%	0.00%
Pickford Public Schools (17090)	4-Year	2018	45	36	<10	<10	<10	80.00%	15.56%
Pickford Public Schools (17090)	5-Year	2017	49	32	<10	<10	12	65.31%	24.49%
Pickford Public Schools (17090)	6-Year	2016	70	29	13	<10	27	41.43%	38.57%
Rudyard Area Schools (17110)	4-Year	2018	39	35	<10	<10	<10	89.74%	7.69%
Rudyard Area Schools (17110)	5-Year	2017	49	43	<10	<10	<10	87.76%	8.16%
Rudyard Area Schools (17110)	6-Year	2016	39	35	<10	<10	<10	89.74%	2.56%
Sault Ste. Marie Area Schools (17010)	4-Year	2018	208	175	<10	17	16	84.13%	7.69%
Sault Ste. Marie Area Schools (17010)	5-Year	2017	202	178	<10	<10	16	88.12%	7.92%



2017-18 Graduation Dropout Entity Breakdown Eastern Upper Peninsula ISD (17): All Rate Years

Location Name		Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
Sault Ste. Marie Area Schools (17010)	6-Year	2016	199	185	<10	<10	11	92.96%	5.53%
St. Ignace Area Schools (49010)	4-Year	2018	51	45	<10	<10	<10	88.24%	9.80%
St. Ignace Area Schools (49010)	5-Year	2017	52	51	<10	<10	<10	98.08%	1.92%
St. Ignace Area Schools (49010)	6-Year	2016	56	54	<10	<10	<10	96.43%	1.79%
Tahquamenon Area Schools (48040)	4-Year	2018	45	41	<10	<10	<10	91.11%	4.44%
Tahquamenon Area Schools (48040)	5-Year	2017	39	36	<10	<10	<10	92.31%	7.69%
Tahquamenon Area Schools (48040)	6-Year	2016	40	40	<10	<10	<10	100.00%	0.00%
Whitefish Township Schools (17160)	4-Year	2018	<10	<10	<10	<10	<10	0.00%	0.00%
Whitefish Township Schools (17160)	5-Year	2017	<10	<10	<10	<10	<10	66.67%	0.00%
Whitefish Township Schools (17160)	6-Year	2016	<10	<10	<10	<10	<10	100.00%	0.00%
DeTour Arts and Technology Academy (17903)	4-Year	2018	<10	<10	<10	<10	<10	57.14%	28.57%



2017-18 Graduation Dropout Entity Breakdown Eastern Upper Peninsula ISD (17): All Rate Years

2017 10 01	addation b	Opodit Entit	y Di Caraow	II Laotoi II o		ala TOD (T7	<i>)                                    </i>	ouro	
Location Name	Rate Year	Cohort Graduation Year	Total Cohort	Total Graduated	Other Completer (GED, etc.)	Off-Track Continuing	Dropouts	Graduation Rate	Dropout Rate
DeTour Arts and Technology Academy (17903)	5-Year	2017	20	<10	<10	<10	15	15.00%	75.00%
DeTour Arts and Technology Academy (17903)	6-Year	2016	12	<10	<10	<10	<10	41.67%	58.33%
Ojibwe Charter School (17902)	4-Year	2018	<10	<10	<10	<10	<10	62.50%	25.00%
Ojibwe Charter School (17902)	5-Year	2017	<10	<10	<10	<10	<10	77.78%	22.22%
Ojibwe Charter School (17902)	6-Year	2016	<10	<10	<10	<10	<10	62.50%	37.50%
Eastern Upper Peninsula ISD - District created from ISD (17000)	4-Year	2018	<10	<10	<10	<10	<10	N/A	N/A
Eastern Upper Peninsula ISD - District created from ISD (17000)	5-Year	2017	<10	<10	<10	<10	<10	N/A	25.00%
Eastern Upper Peninsula ISD - District created from ISD (17000)	6-Year	2016	<10	<10	<10	<10	<10	25.00%	N/A

Some percentages may not add to 100% due to rounding.